EARAROBEEIERT — 2 N— IBISH —F

201757A308 (B) 2EB/M\&2H

4R e AN

[($57E] Fikb

(xwlw | lmEmml - |2 5 oom &

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
gk w3 | AZEN 1:59.8 1-1-1-1 | 36.1| 88.8 | 7 | 466 |"HFER (R®) L
1 a3 - 56.0 (=) (q) | W) HFVIE—NT 12T
L:Nd B:g—7vyalyy Lalotie
sy =s . # 3 | EPR 2:00.0 2-2-2-2 [36.2| 86.8 | 2 552 | tEse (RR)
c@Ju| X AL -FT4T7> 6.0 (1172 (a) | FIEF
R RYIYZXIZ B:O—X4y h— HET77— L
— o . 4t 3 | BAIUGAF 2:00.1 9-10-5-3 | 35.7 | 85.7 | 4 490 | =ERM (RR)
3|8l16| 71 —7~A 56.0 (7€) ) |@ExEE
R:F4—=TA2 N7 b BR-C by T—F— Bk
iy 5 4 3 | REHE 2:00.5 5-5-5-6 |36.2| 81.8 | 5 436 | HHEL (ER)
4 WY 7 TJ77—=IVFvF+ A52.0 (2 1/2) (-12) #\) $o7-L—->29
LiZFAT—IE Biky hFoF o J—HrTr—L
; ; f 3 | MERS 2:00.5 11-10-9-9 | 35.7 | 81.6 | 12 | 422 |HEFE (ER)
5/5/9|TL7—% 54.0 (7€) (o) | ) FvaypTr-n
RN—ELTr— BiALING =L J—¥Tr—L
> . B 3 | BBHE 2:00.6 9-9-7-6 |36.1| 80.8 | 8 392 | NIHE (3ER)
6|5[10| Y * A7~ %053.0 a2 o |FLx=
L:bh—t>hvLRY B:os TFaH-FT> pailzbe )
S 4 3 | HHEEZ 2:00.7 3-3-3-3 [36.6| 80.0 | 3 430 | EEERE (ER)
7|1]2|R-FLY2X 5.0 12 o | @ 0-Ff-2557
RF4—TALNT N BiYuh—TLh FALTAT7— I
5L # 3 | B2 2:01.0 17-16-12-10| 35.9 | 76.7 | 1 444 | WIFH (TR)
817114 AX—bFITILZX 56.0 (1 3/4) (+4) KN
:RU—LPv—Z=— B:T14T74T771 Vallikse]
RS # 3 | BR® 2:01.0 13-13-12-10| 35.9 | 76.7 | 11 448 | BEFIR (RR)
EHQ ke 8.0 (7E) o |
RNRIVTTY BHVRL Y TI— EyAe]
K # 3 | =SEE 2:01.1 18-18-15-12| 35.8 | 75.6 | 10 | 478 |»EEM (E=R)
10715 ¥¥—7U>X 56.0 (1/2) +6) SmEn
R:T4 7 hT—IEY B/ T74—> FRESS
o3 4% 3 | EEBCZ 2:01.3 16-16-17-15/ 35.9 | 73.7 | 14 44 | REBX (ER)
] 8 TS AN v I 54.0 ) +8) (%)n-,g,agwg
L:a2=—/%XLLy b B:FYET7O-F ELae]
LS = 4 3 | BEERE 2:01.5 15-14-17-17| 36.1 | 71.7 | 15 496 | FHE (ER)
12/ 8|18/ PL> T = [B] 56.0 A 1/4) (+6) | BAER
RiW=5—9 T BHLRFITI TR J—Hr T - L
=~ SIS 4 3 | TUE—ER 2:01.7 7-7-12-14 [ 36.6 | 70.2 | 16 | 406 |BB—% (ER)
EEG NYARATYTIT -0 (1 1/4) 46 | W) FrTeb
L:77NMTZ7T B:vabrxrI J—HrTy—LA
NED 4 3 | =X 2:01.8 3-3-3-5 |37.7| 70.4 | 6 496 | EREE (RR)
148|17| #2121 A B> 6.0 @/4) a) |BeERE
AT INATA—H— BTN BINR T 7 — L
RS B 3 | AIGAR 2:01.8 11-10-11-15{ 36.8 | 69.4 | 9 384 | BAEE (BR)
E=4 ZILRY ) — A51°0 (7€) (12) | ) EFB - TU—g-x.a=F
R —LIv—=— B:YI—4LHR Bk JiE—
i . B 3 | ARE 2:02.0 7-7-7-6 | 37.5| 68.3 | 13 | 454 |SHE— (E=)
16(1]1|7b—*~ 753.0 T Cay | B T
:arFady b B:ov N> TI—b BpEEUE e
. . # o3 | JIBEZ 2:02.1 14-14-15-17| 36.8 | 66.5 | 18 | 504 |t (=)
17 5 eQ/A>)-7> 56.0 (1/2) (+6) NEFIERR
L:Tw IRy b BY 774X [IT)=2hs e
- o = Bt :02. -5-9- . . wkEtE (EX)
1817113 EY NYTNRZH 4 3 E 2(042)8 5-5-9-12 | 38.0 | 61.6 | 17 (4_420) 27—{—|~"
L:ga=/F¥LLy b B:TF¥a/N0F BRSNS
@ 21 L
£y 48.0-36.1
NO>24 L | 12.6-11.1-11.3-12.5-12.2-12.1-11.9-11.9-11.8-12.4
® I—F—&EBIERL
|S=7r= 3,11(2,17) (7,13) (1,6) (10,16) (4,9)-12,5,18,8,14,15
23—+ — 3,11(2,17) (7,13) (1,6)10(4,9,16)-12-(5,18) (8,14)-15
33—+ — 3,11-(2,17) (7,16) (1,10) (13,9)4(6,12,14) (5,15) (8,18)
Mal=5r= 3-11(2,16)17(1,7,10)9(12,14) (13,15)6(4,8) (5,18)
[ N5
B Oj 3 1,720M 794K 3-11 840M & 2-6 2,250 &R 3-11-16 7,690/
% B 3 420/ 3-16 3,140M | | B & 3-11 2,440 | | 3EE | 3-11-16 63,130M
1 160/ 11-16 920M B H 3-11 6,470M
16 270M

ABICOVWTRDTEEERROODE. TR LIV,




